STAT 475 Data Analysis with SAS
Midterm I



Name___________________________________

1. Fill in the blanks

(a) Assume that we used the following Data step to calculate the value of the account for 20 years if you deposit $5000 each year with a constant interest rate of 5%. If there’s any error in the shown part, fix it.
Data Invest;

__Do I = 1 to 20________

capital+5000; capital+(capital*0.05); 

__Output; end;___ 

run;

proc print; run;
(b) We create a SAS data which include First name, Last name, street number, street name, city, state, and zip. 



DATA ONE;

    
Input ____________________________________________________

__________________________________________________________
    
Datalines;


Elizabeth Garrison

1293 Oak Avenue


Chapel Hill  NC 27614


Dina Fields

904 Maple Circle


Durham  NC 27713


David Harrington


2426 Elmwood Lane


Raleigh  NC 27803


;

2. Consider the following data sets:

DATA data1;

 INPUT X Y @@;

Datalines;

1 2 1 2.3 2 3 2 3.34

;

DATA data2;

 INPUT X Y Z @@;

Datalines;

1 2.34 11 1 2.345 22 2 3.0 33 3 5.2 44

;

Give the output.

 (a)
  DATA data3; SET data1; BY X;

     IF FIRST.X=1 THEN NUMB=1;  RETAIN NUMB; NUMB=NUMB+1;

  PROC PRINT; RUN;

    



      Obs    X      Y     NUMB

                                     1     1    2.00      2

                                     2     1    2.30      3

                                     3     2    3.00      2

                                     4     2    3.34      3
 (b)
 DATA data4; Set data1 data2; BY X; if X=1;

 PROC PRINT; RUN;

                                    Obs    X      Y       Z

                                     1     1    2.000     .

                                     2     1    2.300     .

                                     3     1    2.340    11

                                     4     1    2.345    22
 (c)
 DATA data5; Set data1; set data2; BY X; if X ~=1;

 PROC PRINT; RUN;

                                     Obs    X     Y      Z

                                      1     2    3.0    33

                                      2     3    5.2    44
 (d)
 DATA data6; MERGE data1 data2; BY X;

     IF LAST.X=FIRST.X THEN V='A';

 PROC PRINT; RUN;

                                  Obs    X      Y       Z    V

                                   1     1    2.340    11

                                   2     1    2.345    22

                                   3     2    3.000    33

                                   4     2    3.340    33

                                   5     3    5.200    44    A
 (e)
 DATA data7; set data2;

    RETAIN ZZ;

    ZZ=MIN(ZZ,Z);

    YY=MIN(YY,Y);

    W+X;

PROC PRINT; RUN;     
                          Obs    X      Y       Z    ZZ      YY     W

                           1     1    2.340    11    11    2.340    1

                           2     1    2.345    22    11    2.345    2

                           3     2    3.000    33    11    3.000    4

                           4     3    5.200    44    11    5.200    7
3. Consider the following SAS codes. Give the output.
(a) DATA One;

    INPUT X A $ ;

    RETAIN Z;

     Z=MAX(Z,X);

     W+Z;

    B=SUBSTR(A,3,2);

   CARDS;

   1  BCD

   . AB

   2  ABCD

   4 AB D

   3 A CD

   ;

   PROC PRINT noobs; RUN;
                                   X    A       Z     W    B

                                   1    BCD     1     1    D

                                   .    AB      1     2

                                   2    ABCD    2     4    CD

                                   4    AB      4     8

                                   3    A       4    12
(b)  DATA ONE;

     INPUT Dept $ ID $ DOB $;

     Y=SCAN(DOB,3);

    CARDS;

    
A 157 12-24-87


C 325 10-12-84


D 302 09-08-80


B 221 10-15-78


D 401 07-09-88


B 201 05-17-69


;

    PROC SORT; BY Dept;

    DATA TWO; SET ONE; BY Dept;

     IF FIRST.Dept=LAST.Dept THEN What=1000+ID;

     RETAIN What; Drop DOB;

   PROC PRINT;

   RUN;
                                Obs    Dept    ID     Y     What

                                 1      A      157    87    1157

                                 2      B      221    78    1157

                                 3      B      201    69    1157

                                 4      C      325    84    1325

                                 5      D      302    80    1325

                                 6      D      401    88    1325
4. Consider the following data and outputs. Give the SAS codes which generate the output.
Data wts;

input Sex $ Weight @@;

DATALINES;

F 115 F 126 F 109 F 151 F 132 M 201 M 169 M 187 M 190 ;
(a)
                          Sex       Weight

                          Frequency‚

                          Percent  ‚< 120   ‚120-180 ‚> 180   ‚  Total

                          ƒƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒƒƒˆ

                          Female   ‚      2 ‚      3 ‚      0 ‚      5

                                   ‚  22.22 ‚  33.33 ‚   0.00 ‚  55.56

                          ƒƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒƒƒˆ

                          Male     ‚      0 ‚      1 ‚      3 ‚      4

                                   ‚   0.00 ‚  11.11 ‚  33.33 ‚  44.44

                          ƒƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒƒƒˆ

                          Total           2        4        3        9

                                      22.22    44.44    33.33   100.00 

(b) 
                        


    Average

                            Gender      Weight   Heights

                            ƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒ

                            Female  120-180 lb       5.2

                                    < 120 lb         4.9

                            Male    120-180 lb       5.5

                                    > 180 lb         5.8

(c)
                      „ƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒ…ƒƒƒƒƒƒƒƒƒƒƒƒƒ…ƒƒƒƒƒƒƒƒƒƒƒƒƒ†

                      ‚                      ‚   Weight    ‚   Height    ‚

                      ‚                      ‡ƒƒƒƒƒƒ…ƒƒƒƒƒƒˆƒƒƒƒƒƒ…ƒƒƒƒƒƒ‰

                      ‚                      ‚ Mean ‚ Std  ‚ Mean ‚ Std  ‚

                      ‡ƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒˆƒƒƒƒƒƒˆƒƒƒƒƒƒˆƒƒƒƒƒƒ‰

                      ‚Sex                   ‚      ‚      ‚      ‚      ‚

                      ‡ƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒ‰      ‚      ‚      ‚      ‚

                      ‚F                     ‚   127‚  16.3‚   5.1‚  0.29‚

                      ‡ƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒˆƒƒƒƒƒƒˆƒƒƒƒƒƒˆƒƒƒƒƒƒ‰

                      ‚M                     ‚   187‚  13.3‚   5.7‚  0.52‚

                      ‡ƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒˆƒƒƒƒƒƒˆƒƒƒƒƒƒˆƒƒƒƒƒƒˆƒƒƒƒƒƒ‰

                      ‚All                   ‚   153‚  34.7‚   5.4‚  0.50‚

                      Šƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒƒ‹ƒƒƒƒƒƒ‹ƒƒƒƒƒƒ‹ƒƒƒƒƒƒ‹ƒƒƒƒƒƒŒ
(a)

Proc Format;

 value weight 0 -< 120 = '< 120 lb'


120 -< 180 = '120-180 lb'
            
180 - HIGH = '> 180 lb';

 VALUE $sex 'F'= 'Female' 'M'= 'Male';

 Run;

Proc FREQ DATA = wts;

   Tables Sex*Weight / nocol norow chisq;

   Format Weight weight.;

   Format Sex $sex.;

   run;

(b)

 PROC REPORT DATA=wts nowd headline ls=84 ps=80 ;

 column Sex Weight Height ;

 define Weight / group format = weight.;

 define Sex / group "Gender" format = $sex.;

 define Height   / analysis mean "Average /Heights" format = comma8.1; RUN;

(c)

 Proc tabulate Data = wts;

   class Sex;

   var Weight Height;

   Table Sex All,

            Weight*(mean*f=6.0 std*f=6.1)

            Height*(mean*f=6.1 std*f=6.2); RUN;

